X+E8i2 Folole 28o|xE=A

= X222 G7|030f 7HsH MM ZARLICY,
= = &30 7|EX|57t 2F8k|0] 0[0)| tHE 27 |0|Xk2 0| CiSat 20| X|2E o3 iLct

[

X|+ETA o702 =™ 25-15% 6/HE)

Ol27|7t  2025.08. 06(%) ~ 2026. 02. 06(2) 208 ;:Sﬁ ARl
R Kl
PAEIN ) KOSPI200 F295 %I Gizig 2'.50755'":
$12.35% —e o o 35%
MESNES 430.68 (2025. 08. 06 () 7h :
AYRSEYY 20260203 () B} 0% " PP
KOSPI200 H=¥ - 7= HEO0|E
278K 2E LMK THHO|ZEE 7|FE K| CiH| 12% AKX 2E LMK THHO|ZEE 7|FE K| CHH| 12%
Z1p o455 "ol Qe E2 1t 453 Ho| Rl 4%
@© ZEX|$7t 7|EK|= CiH] 2AL si2re 249
12.35% (M| ) H2.35%(HH)
(K|S0t DR 22.35% HH) @ 28Xt 7IENIS el gse 82
HIXITESE%) x HO(250%) + 1.175%)* x 2](MIT)
oY 5408
AEX|E X HSE%) HE0|E(Y% M) AKX X+LdSE%) HE0|Z(H%, M)
378.99 -12.00% 235% 378.99 -12.00% 235%
404.83 -6.00% 235% 404.83 -6.00% 235%
41775 -3.00% 235% 41775 -3.00% 235%
430.68 0.00% 235% 43068 0.00% 235%
44361 3.00% 235% 44361 3.00% 2.50%
45653 6.00% 235% 45653 6.00% 2.65%
482.37 12.00% 2.35% 482.37 12.00% 2.95%
482.41 12.01% 2.35% 482.41 12.01% 235%

ALk £HA] S A MEAR|

oAl 1) Z2EX| 2P UNA| BHAOIZLE 7|ZEX|5= CHH| 12% =1t o853 Ho| "UE" E2, ZEXI+7t 4602 I HEO|R-E=27?

- 235%MIT) (BRIt FRGHA 2235% &)

OlA] 2) A%X|4= SPSUNX| SHAO|ZLE 7|FX|4= CHH| 12% E3f & Ho| "l 8% AEXF7t 4202 I HBO|XtE27?
- BEXF7F 7|1EX|5= CiH| 27 SHEslgle R, C‘1235%)HI )

OflA| 3) ZX|4= S LUMX| SHHO|REE 7|EX|a= CHH| 12% =1t &5t Mo| “gle" 42, Z-X|7t 4602 [ HEO0|XtE2?
- (46000-43068)/43068 X 100 = 680% X (B™X|$ - Ié |42) / 712X X100 = K|S E

- Ai680% x 250% + 1.175%) x 2] = H269% X A[K|FTEEE%) x EOE(250%) + 1.175%)* x 2] *6/Hd s+

X2 20| MAIZ|Of QK| G2 XSS E00 SiEdhs HEOIRE2 210] QLT AMB-o 2 AME HEORES HE
XA|TLSEC) X HBOIE0H= ZF 24E M| D|TIM HE
XI|ER| U 2ER|TE ZE 7172 S| 7|IEA 2 IO BIHE 7IEez Bt



